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PHILOSOPHY

( Honours Generic/Regular )
Paper : PHI-HG/RC-3016
( Ethics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions '

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wore RAIERT et Sl e it -

(a) Ethicsis a Positive/Normative Science.
( Choose the correct answer )

ey Rwfe/aredd Ream |
( om Tacs! MR e )

(b) “Ethics is the science of the ideal involved in
human life.”” Whose view is this?

‘“yR 8 wERRe Wiy RecR T
R 1 9% SRechT T 92
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(c)

(d)

(e)

n

(g

(h)
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(2)

Who is the author of the book, Fundamental
Principles of Metaphysics of Morals?

Fundamental Principles of Metaphysics of
Morals 5871 (19 7

The judgements arrived at by the positive
sciénces are factual/axiological.
( Choose the correct answer )

Rufe REmR T@ Bile @@ wReRemz
W/ﬁmﬁ |

( =% Teer AR Sferear )
Who wrote the book, The Nicomachean
Ethics?
The Nicomachean Ethics &899 A
faflfRe 2

State the cognitive element of moral
consciousness.

(AT TSR EARE Somrich! STEd 0 1

Who for the first time yused the word
‘ecology’?

‘ECOlO&I’ "F‘TCBI C’fﬂﬁm QA I/ ﬁ&a 9

Who authored the bogk A
Almanac? » A Sand Country

A Sand Country Almanac spyerg cores G 2

( Continued )

(3)

(i) What is the meaning of “Sila’? :
ey a2 e
() Which is not a part of Jaina’s Triratna?
(i) Samyak Daréana '
(i) Samyak Jiizna
(ii) Samyak Samiadhi

(iv) Samyak Charitra
( Choose the correct answer )

CRICEI CoT s iR 1= 2
(i) e v
(i) S B
(i) Sz SR
(iv) % oRaq
(o= Texdhr AR Tfean )

2. Answer the following questions very briefly : 2x5=10
O PP WS SLE Beq i
(a) What is the Principle of Hedonism?
AT T4 Ao [ 2

(b) State any two characteristics of moral
consciousness.

AT o™ R e g5 cafier foran o
04A/213 : ( Turn Over )
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(4)

(c) What do you mean by ‘Aframa Dharma’?
s if’ e @ e
(d) What do you mean by Land Ethics?
- gfceRes AR P e @
(e) State two arguméqts ' against  capital
punishment. .

599 wed Rees 101 IS Sy v

3. Answer any four questions from the following :

" 5x4=20

o R AT BIRE! e e o «

(2) “You are not punished for stealing sheep, but

in order that sheep may not be stolen.” It
refers to which theory of punishment?
Explain the theory.
“coul PR TN WI oEe. i fiEr R AR,
comre M3 i Czer (R AR IS SV
PR 7= 1 T MR Ieh! Foqm ATt T 2
OB ST 37 |

(b) Distinguish between Deontological and
Teleological Ethics.

FEITTE WNF SRR (Afer ToArE TS

( Continued )

(c)

(5)

*“The more you seek pleasure the less you get
it.”” Explain the significancé of thestatement.

‘74 R ARLT RO, PRIGR FLE T 17

PRI ORI R s

(d)

What is Purusartha in Indian Ethics? Explain
briefly.

_“'\Sﬁ@ﬂmmﬂfﬁﬁﬁ’{ﬁl?w

PN

(e)

()

Write a short note on the Gita’s concept of

.Niskama Karma.

?ﬁ:ﬁﬁmWﬂﬁmﬁmaﬁwm
|

“Duty for duty’s sake.”” Discuss this view of
Kant.

O A FEJ 1”7 T G ORI e
¥{I

What is Moral Judgement? Discuss the

4. (a)
characteristics of Moral Judgement. 2+8=10
e SRMRT IF @AA? GRT SRYRR
aFiEpmR & &, Scemw=n 4 1
Or /- &%
(b) What is Moral Obligation? Discuss different
theories of moral obligation. 2+8=10
(e Ty B2 v ey =P
RfSa TSR SCEs %597 |
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5. (a)

(b)

6. (a)

(b)

p4A/ 213

. Imperative’. E

(6)

Is Kant’s ‘Categorical Imperative’ Rigoristic?
Explain the Maxims of Kant’s ‘Categorical
- 4+6=10
rEY TETA T T ZAC 7 6T TR
SR T IR I

Or / 9%H1

What is utilitarianism? Distinguish between

gross altruistic and refined “altruistic
utilitarianism. e i , 2+8= 10

me@ﬁ@ww‘

What is meant by Anthropocentrism in
environmental Ethics? Distinguish between
weak and strong Anthropocentrism. 2+8=10

WW@W@@WW%
ﬁ?wwaammﬁrwwmmw

fadfa 31
Or / 9%l

Explain the concept of eco-centrism in
Environmental Ethics. Distinguish between
Deep and Shallow Ecology. 2+8=10

AR MRmR R R
o 0 1 B e worSiy RRRAR e
onefa FATE M

( Continued )

(7)

7. (a) What is Brahmavihara? Explain Buddhist
concept of Brahmavihara. 4+6=10

THRZE 7 Q% v THRYT LRI I
I .

Or / &1

(b) Discuss the concept of Mahavrata as found in
Jaina Ethics. How is it different from

Anuvrata‘.{ 4+6=10
to MR TRESTR I | SR
SRS o[l (IS AT

%* % %k
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